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FACTORING & CONVERTING REVIEW

(1) Convert to standard form ( = (A x % X+ C Jby___FOI\L / Disin loore

(@) y=-32x-3)(x+5) (b) y =-(3x+2)(4x-7)
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(2) Convert to intercept form ( ~ = & ( X~ PO~ ‘1(-33 ) by ’E?k(:ﬂﬂ\r’\ﬁ 'l &

Wﬁ_ﬁ (b) y =5x*-125
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(3) Convert to vertex form ( N = Q| x—\/\ﬁl +¥. )by UOMYLL’(’\\}LE A
SAvRN T
(@) y=x*-6x+4 (b) y=x?+5x-2
N= (X=X + ) +y

AN =T (X~ bx +2) 44
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(€) y=2x*+8x+11 (d) y=3x*-9x+8
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(4) Factor the following expressions.

(a) x? +14x + 48 (b) -7x%+42x-35 (c) 5x*-80
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(d) -6x* - 42x (e) 10x% -14x -12 (f) -4x> +14x+30
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(5) The function P(z) = =5¢* +100z - 95 models the profit, P, made by the dance team at their concert
depending on the cost of the ticket, t. Explain all answers in the context of the problem!

(a) Identify the vertex algebraically (*Two choices: or )
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(b) Identify the zeros algebraically by converting to
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(c) Identify the y-intercept.
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